Homework # 9                                                                                                    SCI 1300 


Name:_____________________________                                     

· Use the Babylonian Algorithm to compute the square root of 17. Start with 

x1 = 4 and y1 =17/4. Perform four iterations! Express your answers as fractions, not in decimal notation.

· To check how good an approximation the x-terms are for the square root of 17, compute x2 for each iteration (in decimal notation).
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	x2
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